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LINEAR EQUATIONS IN ONE VARIABLE

Exercise 2 1

1. Solve the following equations. 

x - 2 = 7

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6c3rZsb2y1W4


2. Solve the following equations. 

y + 3 = 10

Watch Video Solution

3. Solve the following equations. 

6 = z + 2

Watch Video Solution

https://dl.doubtnut.com/l/_6c3rZsb2y1W4
https://dl.doubtnut.com/l/_AQxVBvQ0TpPB
https://dl.doubtnut.com/l/_U2i2EPDO3anD


4. Solve the following equations. 

Watch Video Solution

+ x =
3

7

17

7

5. The value of x in the equation 6x = 12 is :

Watch Video Solution

6. Solve the following equations. 

Watch Video Solution

= 10
t

5

https://dl.doubtnut.com/l/_Au0b0BVdacD1
https://dl.doubtnut.com/l/_esMmANgVCFze
https://dl.doubtnut.com/l/_kCsqETFJ6iOU


7. Solve the following equations. 

Watch Video Solution

= 18
2x

3

8. Solve the following equations. 

Watch Video Solution

1.6 =
y

1.5

9. Solve the following equations. 7x – 9 = 16

Watch Video Solution

https://dl.doubtnut.com/l/_kCsqETFJ6iOU
https://dl.doubtnut.com/l/_ihihmHIQC3qz
https://dl.doubtnut.com/l/_pAsmTOgWDt6l
https://dl.doubtnut.com/l/_UEZ7euc2pc8o


10. Solve the following equations. 14y – 8 = 13

Watch Video Solution

11. Solve the following equations. 17 + 6p = 9

Watch Video Solution

12. Solve the following equations. 

+ 1 =
x

3

7

15

https://dl.doubtnut.com/l/_UEZ7euc2pc8o
https://dl.doubtnut.com/l/_eVqiPYcFwClO
https://dl.doubtnut.com/l/_y2X4GhYDH6ma
https://dl.doubtnut.com/l/_wEGEkXwxujaa


Exercise 2 2

Watch Video Solution

1. If you subtract  from a number and

multiply the result by , you get . What is

the number?

Watch Video Solution

1

2
1

2

1

8

https://dl.doubtnut.com/l/_wEGEkXwxujaa
https://dl.doubtnut.com/l/_r9HU6ZCymuc6


2. The perimeter of a rectangular swimming

pool is 154 m. Its length is 2 m more than

twice its breadth. What are the length and the

breadth of the pool?

Watch Video Solution

3. The base of an isosceles triangle is  cm.

The perimeter of the triangle is  cm. What

is the length of either of the remaining equal

sides?

4

3

4
2

15

https://dl.doubtnut.com/l/_ThHecTE0J5kD
https://dl.doubtnut.com/l/_6elpVWqsKFCf


Watch Video Solution

4. Sum of two numbers is 95. If one exceeds

the other by 15, find the numbers.

Watch Video Solution

5. Two numbers are in the ratio 5:3. If they

differ by 18, what are the numbers?

Watch Video Solution

https://dl.doubtnut.com/l/_6elpVWqsKFCf
https://dl.doubtnut.com/l/_aumL3ojFvA7c
https://dl.doubtnut.com/l/_t6yuCNGupsvk
https://dl.doubtnut.com/l/_dosxzFsbJZDF


6. Three consecutive integers add up to 51.

What are these integers?

Watch Video Solution

7. The sum of three consecutive multiples of 8

is 888. Find the multiples.

Watch Video Solution

8. Three consecutive integers are such that

when they are taken in increasing order and

https://dl.doubtnut.com/l/_dosxzFsbJZDF
https://dl.doubtnut.com/l/_axy5AWo9WDem
https://dl.doubtnut.com/l/_JADtW9mMStYS


multiplied by 2, 3 and 4 respectively, they add

up to 74. Find these numbers.

Watch Video Solution

9. The ages of Rahul and Haroon are in the

ratio 5:7. Four years later the sum of their ages

will be 56 years. What are their present ages?

Watch Video Solution

https://dl.doubtnut.com/l/_JADtW9mMStYS
https://dl.doubtnut.com/l/_8fLwwylQM6tO


10. The number of boys and girls in a class are

in the ratio 7:5. The number of boys is 8 more

than the number of girls. What is the total

class strength?

Watch Video Solution

11. Baichung’s father is 26 years younger than

Baichung’s grandfather and 29 years older

than Baichung. The sum of the ages of all the

https://dl.doubtnut.com/l/_T8Yqe7Tah7No
https://dl.doubtnut.com/l/_9EMtcDnxz3qH


three is 135 years. What is the age of each one

of them?

Watch Video Solution

12. Fifteen years from now Ravi’s age will be

four times his present age. What is Ravi’s

present age?

Watch Video Solution

https://dl.doubtnut.com/l/_9EMtcDnxz3qH
https://dl.doubtnut.com/l/_XkK545hHKgG5


13. A rational number is such that when you

multiply it by  and add  to the product.

you get . What is the number?

Watch Video Solution

5

2

2

3

−
7

12

14. Lakshmi is a cashier in a bank. She has

currency notes of denominations Rs 100, Rs 50

and Rs 10, respectively. The ratio of the

number of these notes is 2:3:5. The total cash

https://dl.doubtnut.com/l/_LH22VBPDZWBR
https://dl.doubtnut.com/l/_SuLuYgZ9TvGC


with Lakshmi is Rs 4,00,000. How many notes

of each denomination does she have?

Watch Video Solution

15. I have a total of Rs 300 in coins of

denomination Rs 1, Rs 2 and Rs 5. The number

of Rs 2 coins is 3 times the number of Rs 5

coins. The total number of coins is 160. How

many coins of each denomination are with

me?

Watch Video Solution

https://dl.doubtnut.com/l/_SuLuYgZ9TvGC
https://dl.doubtnut.com/l/_GiPNRAmHwReQ


Exercise 2 3

16. The organisers of an essay competition

decide that a winner in the competition gets a

prize of Rs 100 and a participant who does not

win gets a prize of Rs 25. The total prize

money distributed is Rs 3,000. Find the

number of winners, if the total number of

participants is 63.

Watch Video Solution

https://dl.doubtnut.com/l/_GiPNRAmHwReQ
https://dl.doubtnut.com/l/_R7jQe8MgMfvs


1. Solve the following equations and check

your result :

Watch Video Solution

3x = 2x + 18

2. Solve the following equations and check

your results. 5t – 3 = 3t – 5

Watch Video Solution

https://dl.doubtnut.com/l/_HFxQ9iiLd5uZ
https://dl.doubtnut.com/l/_0QO1CLOdWTP6


3. Solve the following equations and check

your results. 5x + 9 = 5 + 3x

Watch Video Solution

4. Solve the following equations and check

your results. 4z + 3 = 6 + 2z

Watch Video Solution

https://dl.doubtnut.com/l/_bcbTO3EJ1PZo
https://dl.doubtnut.com/l/_kmxTtK8Uxmtj


5. Solve the following equations and check

your results. 2x – 1 = 14 – x

Watch Video Solution

6. Solve the following equations and check

your result :

WE have : 

Watch Video Solution

8x + 4 = 3(x − 1) + 7

https://dl.doubtnut.com/l/_HHlS6oMpPKjZ
https://dl.doubtnut.com/l/_LePTremCVcCg


7. Solve the following equations and check

your results. 

Watch Video Solution

x = (x + 10)
4

5

8. Solve the following equations and check

your results. 

Watch Video Solution

+ 1 = + 3
2x

3

7x

15

https://dl.doubtnut.com/l/_GTh0F7MGPJbN
https://dl.doubtnut.com/l/_XUcEaXiJxMPH


9. Solve the following equations and check

your result :

.

Watch Video Solution

2y + = − y
5

3

26

3

10. Solve the following equations and check

your result :

.

Watch Video Solution

3m = 5m −
8

5

https://dl.doubtnut.com/l/_l9zlHbu4eqob
https://dl.doubtnut.com/l/_cvxuDXT1bLOP


Exercise 2 4

1. Amina thinks of a number and subtracts 

from it. She multiplies the result by 8. The

result now obtained is 3 times the same

number she thought of. What is the number?

Watch Video Solution

5

2

2. A positive number is 5 times another

number. If 21 is added to both the numbers,

then one of the new umbers becomes twice

https://dl.doubtnut.com/l/_ZppBeuSYZNig
https://dl.doubtnut.com/l/_LCibTSC1JqUl


the other new number. What are the

numbers?

Watch Video Solution

3. Sum of the digits of a two-digit number is 9.

When we interchange the digits, it is found

that the resulting new number is greater than

the original number by 27. What
 is the two-

digit number?

Watch Video Solution

https://dl.doubtnut.com/l/_LCibTSC1JqUl
https://dl.doubtnut.com/l/_swEVNDvVJi0r
https://dl.doubtnut.com/l/_dyHQGD51VDRF


4. One of the two digits of a two digit number

is three times the other digit. If you

interchange the digits of this two-digit

number and add the resulting number to the

original number, you get 88. What is the

original number?

Watch Video Solution

5. Shobo's mother 's present age is six times

Shobo's preset age.Shobo's age five years from

https://dl.doubtnut.com/l/_dyHQGD51VDRF
https://dl.doubtnut.com/l/_GXcHAwWQEcZW


now will be one third of his mother's present

age.What are their present ages ?

Watch Video Solution

6. There is a narrow rectangular plot, reserved

for a school, in Mahuli village. The length and

breadth of the plot are in the ratio 11:4. At the

rate Rs 100 per metre it will cost the village

panchayat Rs 75000 to fence the plot. What

are the dimensions of the plot?

Watch Video Solution

https://dl.doubtnut.com/l/_GXcHAwWQEcZW
https://dl.doubtnut.com/l/_jXcZDt02s3JB


7. Hasan buys two kinds of cloth materials for

school uniforms, shirt material that costs him

Rs 50 per metre and trouser material that

costs him Rs 90 per metre. For every 3 meters

of the shirt material he buys 2 metres
 of the

trouser material. He sells the materials at 12%

and 10% profit respectively. His total sale is Rs

36,600.
 How much trouser material did he

buy?

Watch Video Solution

https://dl.doubtnut.com/l/_jXcZDt02s3JB
https://dl.doubtnut.com/l/_rjt5aAmdrEZy
https://dl.doubtnut.com/l/_wZVc2bWJ3Tht


8. Half of a herd of deer are grazing in the field

and three fourths of the remaining are playing

nearby. The rest 9 are drinking water from the

pond. Find the number of deer in the herd.

Watch Video Solution

9. A grandfather is ten times older than his

granddaughter.
He is also 54 years older than

her. Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_wZVc2bWJ3Tht
https://dl.doubtnut.com/l/_xskUehZSil5s


Exercise 2 5

10. Aman’s age is three times his son’s age. Ten

years ago he was five times his son’s age. Find

their present ages.

Watch Video Solution

1. Solve the following linear equations :

Watch Video Solution

− = +
x

2

1

5

x

3

1

4

https://dl.doubtnut.com/l/_xskUehZSil5s
https://dl.doubtnut.com/l/_Az1efFJOK6iL
https://dl.doubtnut.com/l/_ZPYI9iHxHMNp


2. Solve the following linear equations :

Watch Video Solution

− + = 21
n

2

3n

4

5n

6

3. Solve the following linear equations :

Watch Video Solution

x + 7 − = −
8x

3

17

6

5x

2

https://dl.doubtnut.com/l/_ZPYI9iHxHMNp
https://dl.doubtnut.com/l/_xoxbPEAZbVFR
https://dl.doubtnut.com/l/_wHWT1xengsVd


4. Solve the following linear equation:

.

Watch Video Solution

=
x − 5

3

x − 3

5

5. Solve the following linear equations :

Watch Video Solution

− = − t
3t − 2

4

2t + 3

3

2

3

https://dl.doubtnut.com/l/_XTGnYL4Z6Ff4
https://dl.doubtnut.com/l/_8xuwWzZgK0Oc


6. Solve the following linear equations :

Watch Video Solution

m − = 1 −
m − 1

2

m − 2

3

7. Simplify and solve the following linear

equations : 3(t – 3) = 5(2t + 1)

Watch Video Solution

https://dl.doubtnut.com/l/_l6B6A5Hwr8i6
https://dl.doubtnut.com/l/_S5a4NgNfpO0o


8. Solve the following linear equation:

.

Watch Video Solution

15(y − 4) − 2(y − 9) + 5(y + 6) = 0

9. Simplify and solve the following linear

equations : 3(5z – 7) – 2(9z – 11) = 4(8z – 13) –

17

Watch Video Solution

https://dl.doubtnut.com/l/_QTdedANyXqEs
https://dl.doubtnut.com/l/_BKcOZ6Shdw28


Exercise 2 6

10. Simplify and solve the following linear

equations : 0.25(4f – 3) = 0.05(10f – 9)

Watch Video Solution

1. Solve the following equations. 

Watch Video Solution

= 2
8x − 3

3x

https://dl.doubtnut.com/l/_mARD8GFgwslq
https://dl.doubtnut.com/l/_1WduU0h49KWR


2. Solve the following equations. 

Watch Video Solution

= 15
9x

7 − 6x

3. Solve the following equations. 

Watch Video Solution

=
z

z + 15

4

9

4. Solve the following linear equation :

Watch Video Solution

= −
3y + 4

2 − 6y

2

5

https://dl.doubtnut.com/l/_aAILIPmY4btN
https://dl.doubtnut.com/l/_U3UqWb5tR7Ms
https://dl.doubtnut.com/l/_aKg6cccZqD4S


5. Solve the following equations.

Watch Video Solution

=
7y + 4

y + 2

−4

3

6. The ages of Hari and Harry are in the ratio

5:7. Four years from now the ratio of their

ages will be 3:4. Find their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_aKg6cccZqD4S
https://dl.doubtnut.com/l/_tOiWwzr08PHO
https://dl.doubtnut.com/l/_ZJQapz4TLUo6
https://dl.doubtnut.com/l/_kaMnJBPJYSCq


Additional Questions For Practice Objective Type

Questions

7. The denominator of a rational number is

greater than its numerator by 8. If the

numerator is increased by 17 and the

denominator is decreased by 1, the number

obtained is . Find the rational number

Watch Video Solution

3

2

1. Solution to ax + b = 0 is _____________

https://dl.doubtnut.com/l/_kaMnJBPJYSCq
https://dl.doubtnut.com/l/_uaSzHDPq1oPq


Watch Video Solution

2. Shifting of a number from one side to the

other side of equation is called _________________

Watch Video Solution

3. Value of the variable which satisfies the

equation is called the __________ of the

equation.

Watch Video Solution

https://dl.doubtnut.com/l/_uaSzHDPq1oPq
https://dl.doubtnut.com/l/_zE29VsDX2j2z
https://dl.doubtnut.com/l/_x2QTFh0IPAaH


4. The solution of the equation 4x + 5 = 1 + 3x

is ___________

Watch Video Solution

5. Sum of three consecutive numbers is 15,

then the numbers are ___________

Watch Video Solution

https://dl.doubtnut.com/l/_x2QTFh0IPAaH
https://dl.doubtnut.com/l/_Iy5bQmrjR1Bo
https://dl.doubtnut.com/l/_HzReIQw80MQq


6. The equation of the statement "Adding 60

to the product of 7 and y is 16" is ___________

Watch Video Solution

7. Perimeter of a rectangle is 48 cm. If its

length is thrice its breadth then its length is

A. 18

B. 12

C. 24

https://dl.doubtnut.com/l/_SrmBh6EeouTn
https://dl.doubtnut.com/l/_HSi4tEm6dgFh


D. 

Answer: A

Watch Video Solution

8. 6 is added to a number. The sum when

divided by 5 gives 3. The equation is

A. 

B. 

C. 

= 3
6 + x

5

= 5
6 + x

3

3(6 + x) = 5

https://dl.doubtnut.com/l/_HSi4tEm6dgFh
https://dl.doubtnut.com/l/_pjCG5vRaVG5u


D. 

Answer: A

Watch Video Solution

9.  for x equal to

A. -11

B. 11

C. 60

D. 

+ + = 110
x

1

x

2

x

3

https://dl.doubtnut.com/l/_pjCG5vRaVG5u
https://dl.doubtnut.com/l/_gaIWYnvikfg7


Answer: C

Watch Video Solution

10. Degree of variable in a linear equation is

A. -1

B. 1

C. 23

D. 

Answer: B

https://dl.doubtnut.com/l/_gaIWYnvikfg7
https://dl.doubtnut.com/l/_4JIkuqnVqF2l


Watch Video Solution

11. In a linear equation, if you multiply the LHS

by a number then you should

A. divide RHS by it

B. multiply RHS by it

C. Add it to RHS

D. 

Answer: B

https://dl.doubtnut.com/l/_4JIkuqnVqF2l
https://dl.doubtnut.com/l/_Iy4UMshnr7dI


Watch Video Solution

12. Two numbers are in the ratio 2 : 3. Together

their sum is 100 then the numbers are

A. 20, 80

B. 40, 60

C. 30, 70

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Iy4UMshnr7dI
https://dl.doubtnut.com/l/_wyOrVau2yqXk


13. State whethe true or false 

We can add/subtract the same number from

both sides of the equation.

Watch Video Solution

14. For 

Watch Video Solution

x = 2                  4x + 1 = 9

https://dl.doubtnut.com/l/_wyOrVau2yqXk
https://dl.doubtnut.com/l/_UpjlEbIhknVa
https://dl.doubtnut.com/l/_BIgWk7tmASDd


15. In a linear equation highest power of the

variable is ______

Watch Video Solution

16. If 6x = 18 then x = 3.

Watch Video Solution

17. The sum of 2 numbers is 80. If one is 7

times the other number, then the numbers are

https://dl.doubtnut.com/l/_4kM85zU0eRMp
https://dl.doubtnut.com/l/_Xnj394eBBmWj
https://dl.doubtnut.com/l/_wlT7rFSJPc6y


Additional Questions For Practice Short Answer

Type Questions

20, 60.

Watch Video Solution

18. A and B are together 60 years old. Three

year ago A was 5 times as old as B was. Hence,

their present ages are 48 and 12.

Watch Video Solution

https://dl.doubtnut.com/l/_wlT7rFSJPc6y
https://dl.doubtnut.com/l/_vYwZw4mQLi0j
https://dl.doubtnut.com/l/_TlVMb1cxgr4a


1. Solve the following equations and find the

solution. 

Watch Video Solution

0.08(3m − 1) = 0.4m + 10

2. Solve the following equations and find the

solution. 

Watch Video Solution

− 1 = + a
4 − a

7

a − 5

3

https://dl.doubtnut.com/l/_TlVMb1cxgr4a
https://dl.doubtnut.com/l/_koxES4rptZF7
https://dl.doubtnut.com/l/_L4U1DMHhHe4x


3. Solve the following equations and find the

solution. 

Watch Video Solution

=
x + 1

2x + 3

x − 1

2x − 5

4. State which of the following are linear

equations (with a variable) ? Identity the

variable. Give reasons to support your answer. 

Watch Video Solution

(7 × 3) − 15 = 8

https://dl.doubtnut.com/l/_L4U1DMHhHe4x
https://dl.doubtnut.com/l/_2qqAkkRCdZiE
https://dl.doubtnut.com/l/_inylf0gDtj2i


5. State which of the following are linear

equations (with a variable) ? Identity the

variable. Give reasons to support your answer. 

Watch Video Solution

x + 12 > 9

6. State which of the following are linear

equations (with a variable) ? Identity the

variable. Give reasons to support your answer. 

Watch Video Solution

5m(11 × 2) = 4

https://dl.doubtnut.com/l/_inylf0gDtj2i
https://dl.doubtnut.com/l/_pbqz0Tz9bLGY


Additional Questions For Practice Long Answer

Type Questions

7. Pick out the solution from the values given

in the bracket. 

Watch Video Solution

2x − 7 = 11(0, 9, 10)

https://dl.doubtnut.com/l/_pbqz0Tz9bLGY
https://dl.doubtnut.com/l/_UvbcwzHTwu5K


1. A steamer goes downstream from one port

to another in 10 hours and covers the same

distance upstream in 12 hours. If the speed of

the stream be 4 km/hr. Find the speed of

streamer in still water and the distance

between the ports.

Watch Video Solution

2. Each side of a triangle is increased by 5 cm.

If the ratio of the perimeter of the new

https://dl.doubtnut.com/l/_DfowkwrPg9OH
https://dl.doubtnut.com/l/_xnnErjlq6LXb


triangle to the given triangle is 3 : 2. Find the

perimeter of the given triangle.

Watch Video Solution

3. A train is travelling at a speed of 75 km/hr

from city A to city B. On its return journey, it

travels at a speed of 50 km/h and takes 5

hours more than the onward journey. Find the

distance between city A and city B.

Watch Video Solution

https://dl.doubtnut.com/l/_xnnErjlq6LXb
https://dl.doubtnut.com/l/_u5Ti2DKNI6BQ
https://dl.doubtnut.com/l/_C8NmY1SFlgz3


4. Anushka and Arushi are friends. They have

equal amounts of money in their pocket.

Anushka gave  th of her money to Arushi as

a birthday gift. Then, Arushi gave a party at

restaurant and cleared the bill by paying half

of the total money with her. If the remaining

money in Arushi's pocket is Rs. 2400, find the

money spent by Anuskha on gift.

Watch Video Solution

1

5

https://dl.doubtnut.com/l/_C8NmY1SFlgz3


Additional Questions For Practice Hots High

Order Thinking Skill

1. The cab charges are Rs. 52 for the first

kilometre and Rs. 28 for every subsequent

kilometre. Write a linear equation for this

information, if the total cab charges were Rs.

980, find the distance travelled.

Watch Video Solution

https://dl.doubtnut.com/l/_vCQX2jUVjNqD


2. What would be the cab charges, if the

passenger travelled 40 km and for each

kilometer it take Rs.20 ?

Watch Video Solution

3. Neha's school is 18 km from her house. She

covers this distance in 3 hours partly by bus

and partly by cycling. If she travels by bus at a

speed of 9 km/hr. and cycles at 3 km/hr. How

much distance does she cover by cycling ?

https://dl.doubtnut.com/l/_cotCNLpZGps7
https://dl.doubtnut.com/l/_Zlm2x3yojUiI


Sample Paper For Practice

Watch Video Solution

1. If 3x is an even number then the next even

number is ___________.

Watch Video Solution

2. A number when divide by 6 gives the

quotient 6. What is the number?

Watch Video Solution

https://dl.doubtnut.com/l/_Zlm2x3yojUiI
https://dl.doubtnut.com/l/_afuqZkC7WmxB
https://dl.doubtnut.com/l/_JXKmQoP8xqpt


3. In a linear equation, highest power of the

variable is ___________.

Watch Video Solution

4. The solution of the equation  is

________________

Watch Video Solution

= 16
4

m

https://dl.doubtnut.com/l/_JXKmQoP8xqpt
https://dl.doubtnut.com/l/_ZPzVaWMwhjnh
https://dl.doubtnut.com/l/_T060UvLut8n3


5. Two different equation can never have same

solution.

Watch Video Solution

6. If 

Watch Video Solution

+ 1 = then =
x

4

3

8

x

4

−5

8

7. In the equation 7x - 8 = 10, transposing -8 to

10 gives 7x = 2.

https://dl.doubtnut.com/l/_1eQ0REQQBhUq
https://dl.doubtnut.com/l/_CyWGN6kmQOcp
https://dl.doubtnut.com/l/_Jlf2IqFB9TBH


Watch Video Solution

8. If the age of a girl 6 years ago was 3x years

then her present age is 3x + 6.

Watch Video Solution

9. If 5 times a number increased by 7 is 42, the

number is

A. 5

B. 6

https://dl.doubtnut.com/l/_Jlf2IqFB9TBH
https://dl.doubtnut.com/l/_w6u4APNC59nA
https://dl.doubtnut.com/l/_3IsS9RKlnJfg


C. 7

D. none of these

Answer: C

Watch Video Solution

10. Which of the following is a linear equation

in one variable.

A. 

B. xy = 1

y
2 + 7 = 8

https://dl.doubtnut.com/l/_3IsS9RKlnJfg
https://dl.doubtnut.com/l/_1X2qVpvg9JqL


C. x - 7 = 0

D. none of these

Answer: C

Watch Video Solution

11. Solution of the equation 

A. 4

B. 10

C. x - 7 = 0

= x − 2
4x

5

https://dl.doubtnut.com/l/_1X2qVpvg9JqL
https://dl.doubtnut.com/l/_CDkPjz3BOQua


D. none of these

Answer: B

Watch Video Solution

12. Which of the following has the coefficient

of x as 1 in a linear equation in one variable ?

A. xy - 1 = 9

B. x + 3y = 1

C. x + 7 = 12

https://dl.doubtnut.com/l/_CDkPjz3BOQua
https://dl.doubtnut.com/l/_bT5Kg8bevF8j


D. none of these

Answer: C

Watch Video Solution

13. Two-third the number is 5 and more than 7

the number is .

Watch Video Solution

https://dl.doubtnut.com/l/_bT5Kg8bevF8j
https://dl.doubtnut.com/l/_xje1SMHa7ZrK


14. Sum of three consecutive multiples of 6 is

666

Watch Video Solution

15. 6 times a number subtracted from 15 gives

to 10

Watch Video Solution

https://dl.doubtnut.com/l/_GYQaV2reUxbi
https://dl.doubtnut.com/l/_a0z2cxI0zTLJ


16.  th of a number is 4 more than half of a

number.

Watch Video Solution

3

5

17. What number must be added to each of the

numbers 2, 6, 4, 9 so that the resulting

numbers are in proportion.

Watch Video Solution

https://dl.doubtnut.com/l/_SIct8t0w3j3O
https://dl.doubtnut.com/l/_G3bv010m2JPa


18. Distance between two places A and B is 860

km. Two cars start simultaneously from A and

B towards each other. The distance between

them after 6 hours is 80 km. If the speed of

one car is 10 km/hr. less than the other. Find

the speed of each car.

Watch Video Solution

19. Solve the equations

 and verify the result.+ 2 =
4m + 3

7

m + 5

2

https://dl.doubtnut.com/l/_VJBTdnXWFxDO
https://dl.doubtnut.com/l/_tnh9qvqJWY3u


Watch Video Solution

20. Two supplementary angles differ by .

Find the measures of the two angle.

Watch Video Solution

50∘

21. 10 years ago grandmother was thrice as old

as granddaughter, 15 year later grandmother

will be twice as old as grand daughter. Find

their present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_tnh9qvqJWY3u
https://dl.doubtnut.com/l/_1aapuVQfh3wf
https://dl.doubtnut.com/l/_acWNTeOKPHaU


https://dl.doubtnut.com/l/_acWNTeOKPHaU

